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100 2% K 11.08 (0.0) H20 #KIR (EsfE)
200 R thih 22.60 (+0.8) H18 & (Infd)
400 WhIR sBpE 52.67 H18 FTAT= (X&)
800 BEE WK 1.58.76 H20 T AR (Efd)
1500 BE HK 41323 H20 BEB=(2H)
3000 BE WK 9.22.05 H20 FE=EHE (NA)
5000 BE HK 16.29.51 H20 #{AFE=(2H)
110H BRIl & 16.68 (-0.2) H17 #ABE=(2H)
400H BRIl & 59.62 H17 #ABE=(2H)
3000SC R EE 10.03.89 H16 #KR (ErfE)
E= Bk =% #EE 1.91 H18 #{KR (FsfE)
= ER Bk M sk 13.00 H22 T ATE= (2 H)
M fngE & 32.28 (1.75kg) H20 #{AFE=(2H)
Y RE B 55.78 H17 #ABE=(2H)
4 x 100R WIREEA. dLir5ih 43.38 H17 #{KR (Ff8)
HHEE. FEHth
4 x 400R EHRM.TI & 3.31.40 H20 PE=ZFEFIE (MA)
BEEMAN.ERES
5000W INKK e 27.49.01 H17 #ABE=(2H)
100 Rig #EX 12.76 (+0.9) H21 #H AR (ErfE)
200 Rig #EX 27.05 (-1.3) H21 FE=ZFEFHE(NA)
400 Bl KE 1.01.12 H22 FTAT=(NA)
800 e T8 2.29.60 H20 #{AFE=(Z2H)
1500 WA F= 5.07.64 H20 #{AFE=(Z2H)
3000 WHe T 10.57.86 H20 #fAFE=(Z2H)
100H AL Wi 16.42 (+0.4) H18 #{AR (Ffd)
i BHE 16.0 (-0.3) H21 REFR=(Z2H)
400H =% F:E 1.09.79 H22 s&1bE&E R (Enfd)
E= Bk s 2 1.50 H16 #AR (Erfd)
i Bk M @ 446 (-0.8) H20 #FATE=(XA)
FasfLi% FEE FE 9.98 H15 #{AR (Erfd)
(e hiE 5t A% B 30.61 H18 FTAT=(NA)
DY FERE FHE 32.37 H15 #AR (Brfd)
4 x 100R FIRER. RIGEX 51.12 H21 TN R (Brfd)
EBAKE. =ZXHAR
4 x 400R RIGHEX, BLKE 4.18.01 H21 BE=ZEFIE (WA
NGRS F. PIRER
3000W Nt B 17.56.82 H19 ¥ATE=(2M)




